TH2OERE SVEHRAEAS HAER

(= #)

| — & BF (2#8) A& HE R
(5188)

A H BL F — L % A7 — (B F — L % 2
DIA|XXKDYILER—=—LYZT7 @ 2 - 4 O|XK % ¥ v 7 — X
8A6E |Q|B|EM A MPTAYV I+ @O0 -2 O|AMNMPTAYIFKR—L| 3C
EXA|QB|T v R — 2 5 J/@0-100|=4#e6 TH YV 7 N E#

@AlE N 4 3 T|O10-0 @#% X 7 £ 7 — X| 4c
DlcltHEMMHMNPTAYV I+ @O0 -140|ZERVYINR—LYIFT
8A6H |Q|D|BAYVIFAR—LF—L|@ 0 -10 0| ¥ 2 « v ¥ X|FEiE
FXB|(Q|C|EH £ #M L v X|A 4 -4 A|=H3THS- B C|m=
@ID|X £ Y v 7 2O 9 -8 @|uw [ S 2 k
DIE[KENMNPTAY I7+-@O0-40OQ|XEBEYIFKR—L
98248 |@|F|7T ¥ Y ¥ — X|@ 5 -11TO|INEFYVYIH+YLFT
I |Q@E|LtBYVIFAR—LY73T7|O 8 -0 @t — B — X BHE
@D F|l#n £ NN v 7 + @6 -120|ZEMIFR—LEAFSR
DIG|L vy F 7 £ v 7 2@ 6 -7 O EEMNMNERPTAYIL
9248 |Q|H|&%E B8 2 7 4 J7|/O11-5 @m & = TH Y 7t
AEEA|Q|G|H 1 v 4 v X (@ 1 -8 O|7 L A =
@DIHI XK BOPTAY Z7HFOI11-3 @8 woov 7 k

DlilEBMNEYIFR—=—L[O 17 - 2 @|XKENYILR—ILEFL|l 4C
9248 |Q@|J |k ®m N T v 7 O 6 -5 @E B B @& =
AREB|Q|i | ZEFPTAVILIRAF(O 13- 0 @|X #1 v 7 F 4 3 J| 4C
@DJ|X B 774 FY —XO0O12-3 @&#HHMNMPTAY I HKB5BC
DIKIRW/MPTAYILA|@ 5 -16 O|XEMNPTAY IR £| BFRE
9R10A(@|L|BEZ MPTAYVILH|IO10- 3 Ol & 4 9 e r s
mID @K — 1 X F|@6 -130|% & vy 1y — X|EHE
@DILIEH 72744 — @1 -110|> > + 1| B5fE]

) KEHD 3C-4C-5C [k a— LR —LOE#EERT




TH2OERE SVEHRAEAS HAER

(= #)

| — & BF (2#8) B & HE R
(%288)
A B BL F — L £ A7 — (BB F — L % &
DIB|HAMPTAYILFAR—L|O 5 -3 @|=#H 6 T B Vv 7+
9R1I0B|QO|A| XK % ¥+ v ¥ — X0 9 -3 @& N»™ v 3 I
FINF|QIB|EEAKNMNPTAY I @O0 -100|7 v & — 4 3 7J|4C
DA AXKDMYIFAR—=—LYZ3T(O 6 - 2 @|% XK 7 x 7 — X
®|D(#E " v « v J 2@ 1 -8 O|lXx E + U ¥ T X|HEHE
924R ([@|C| X RBRYI+LAR—LHUV3T|IO 7 -1 @XE & #H L v X
FNA|[QID|BARXYIFAR—LF—L|O 9 - 2 @t B v 7 +
@lcltEmMNMNPTAY I+ @ 3 -130O|=ZH3THS-B-C|A4C
DIFINEFYI225T7(@0 -10Q|2RMNYIrFR—ILERE| FEIE
AR |(Q@IE|lXEBE&EVILFAR—1LIO 9 -0 @|LEEVI+FAR—LYUST| 5C
BNA|IQ|IF|IF v ¥ ¥ — X|@10-130|# = & v 2 ¢+
@DIE[xX B MNPTAY 7+ @ 3 -5 0|t — m — z
D|G|EHNMNMNERPTAYVIL|@ 0 - 12 O|7 L A X| 4C
10A8B|@|H|& & 72 7 4 7/O015- 2 @ XA O0PTAY 7 HA4C
ERA|Q|GIL v F 7 v s 2IO11-1 @|E 0 v 4 v X|4C
@DHmm & =—THVY Z2rOI12-5 @8 woov 7 b 5C
@lJj#E = M T v 7 ~|O12-5 @K B 7 7 4 v — X|BH
10888 |@|i|#EMNLEYIEFR—L| @ 1 - 9 O|=ZEFPTAVILREAFS
¥kB|(Q|U|E B B & =203 -2 @aBEHMPTAY IEL
@|i|XKENMNYIFR—LEFE(O 9 - 6 @| X 1 Vv 7 Y T T
1081B|D|L|IBEMPTAYILFHIO 6 - 2 @Y > + 4
FTIMA|Q|IK| XKERMNMPTAVILIRAF=|@ 6 - 7 Ol & Yy 1y — X
QK| FEwmrPTAYZ+AIO10- 8 | — L K F
10818 b e
d&c | @|L|dT B 4 9 e r s|O10-7 @5 % 72 7 14 4 — X

) KEHD 3C-4C-5C [k a— LR —LOE#EERT




